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QUESTION 1

Which statement about customizing restricted code tables is true?

A. Use the Administration Suite to disable the restricted property for the code table before customizing it.
B. Customize the code table as normal, but the code table may be removed in the next release.

C. Custom code tables can be defined as restricted when you first create them.

D. Raise a support case if a restricted code table needs to be customized.

Correct Answer: A

QUESTION 2

An entity class called MyEntity includes a non-database method that is defined using the stereotype.
In which Java class is the method implemented?

A. curam.intf.MyEntity

B. curam.base.MyEntity

C. curam.impl.MyEntity

D. curam.fact.MyEntity

Correct Answer: C

QUESTION 3

Which tool do you use?
A. Passport Advantage.
B. Fix Central.

C. RFE Tool.

D. SR Tool.

Correct Answer: B

QUESTION 4
StructA aggregates two structs, namely, StructB and StructC.

Which statement about the aggregation is correct?
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A. No two structs in the aggregation can have attributes with the same name.
B. Unique role names must be specified for the aggregations.

C. Unique labels must be specified for the aggregations.

D. Other aggregations cannot include StructA, StructB, or StructC.

Correct Answer: D

QUESTION 5
You made a change to application navigation artifacts.

Which two build targets ensure that the runtime behavior of application navigation accurately corresponds to what has
been configured? (Choose two.)

A. build generated

B. build database

C. build navconfig

D. build inserttabconfiguration
E. build clean client

Correct Answer:. AB
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